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Problem Example 3.9 Smith
o.V®
Given that vapor pressure of{élgﬁ)ﬁec at 350K is
9.4573 bar, find thw«q{aN&uqu: (a) Saturated

vapor (b)Saiyestel liquid < all four cubic EoS
&?\‘/\‘%q s (v&’\??rﬁé

l. Vand a

ll. Redlich-Kwong(RK)

lll. Soave-Redlich-Kwong(SRK)
Iv. Peng-Robinson(PR)

Experimental results:
VV=2482 cm3/mol V=115 cm3/mol

Given:
Tc=425.1K Pc= 37.96 bar w =0.200
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Problem Example 3.10 Sipith
cO-
eSa\e
Determine the molar volu?\eﬁt\ﬁ\b n a‘ KLQK and 25 bar by each of

the following; \e\N gage l%

1|dea|ga
2.The generallzed compressibility correlation

3.The generalized virial coefficient correlation.
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Home Work Problems

.

ga\e-©
v' Problem 3.34 Smut;%(%mwfs g@her # 3, 7t Ed, Pg-118.
v Proble@n‘i@\é Smlt@@%n %ess Chapter # 3, 7t Ed, Pg-120.
v' Problem 3.49 Smith & Van Ness Chapter # 3, 7t" Ed, Pg-120.
v' Problem 3.51 Smith & Van Ness Chapter # 3, 7t" Ed, Pg-120.

v' Problem 3.61 Smith & Van Ness Chapter # 3, 7t" Ed, Pg-121.

21

CHEMICAL ENGINEERING THERMODYNAMICS-I ‘



